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B. A. (HONOURS) ECONOMICS 
(BAECH) 

Term-End Examination 
December, 2024 

BECC-105 : INTERMEDIATE MICRO 
ECONOMICS–I 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer questions from each Section as per 

instructions given.   

Section—A 

Note : Answer any two questions from this Section.  

Each question carries 20 marks. 2×20 = 40 

1. (a) Anand is assumed to live in two time 

periods, 1 and 2. His consumption and 

income in time period 1 are C1 and Y1 and 
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in time period 2, C2 and Y2 respectively. 

The prevailing market rate of interest is r. 

Find the equation for his intertemporal 

budget line. In a diagram, clearly show his 

endowment set, intercepts and the slope of 

the budget line. In the same diagram, 

clearly show the shift in the budget line 

due to the increase in the rate of interest. 

10 

(b) Assume that Anand has well-behaved 

preferences and that he was a borrower 

before the increase in the rate of interest 

and became a lender after the increase. 

Would he be better-off or worse-off after 

the increase in the rate of interest ? 

Discuss with the help of a diagram. 10 
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2. Explain the law of variable proportions and 

explain the relationship between the marginal 

and the average productivity of the variable 

input (labour). A firm’s total production 

function is given below : 

2X 30L L 25= − −   

where X is the output and L is the number of 

labourers employed. Find the maximum 

number of labourers employed in the first and 

the second stage of production. Draw a 

diagram.   10+5+5 

3. Ahmad’s utility function for two commodities  

X, Y is as follows : 

1 1
2 2U(X,Y) X Y=   
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Suppose Ahmad’s income is ` 300 per month 

and prices of good XX(P )  and good YY(P )  are 

respectively ` 3 and ` 5. Find his equilibrium 

consumption bundle. If price of X declines to ` 2 

while price of Y and his income remain the 

same, what will be the new consumption bundle ? 

Explain Slutsky’s method of decomposing price 

effect into income effect and substitution effect 

using a graph. 5+5+10 

4. (a) Discuss the first and the second welfare 

theorems. Can you say that a Pareto 

optimal solution is both efficient and 

equitable ? Justify your answer. 8 
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(b) “In a two-commodity and two-consumer 

pure exchange model, show that a non-

competitive equilibrium is inefficient.” 

Elucidate this statement with the help of 

an appropriate diagram. 12 

Section—B 

Note : Answer any four questions from this Section. 

Each question carries 12 marks. 4×12 = 48 

5. (a) Define consumer surplus. Suppose the 

demand function of a consumer is as 

follows : 

Q 150 2P= −   

where Q and P are respectively the 

demand and the price of a commodity. The 

initial price is ` 3 and it falls to ` 2. Find 

B–1502/BECC–105  P. T. O. 



 [ 6 ] BECC–105 

consumer surplus with the initial price and 

also the change in the surplus after the 

price change. 5 

(b) For a convex indifference curve, explain 

equivalent variation when the price of 

commodity X (taken on the horizontal axis) 

increases while the price of the other 

commodity (Y) and the income of the 

consumer remains the same. 7 

6. Derive the short-run supply curve of a 

representative competitive firm. What will be 

the short-run supply curve of the industry if  

there are n identical firms ? Mention the factors 

that determine the long-run supply curve of a 

firm.    4+2+6 
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7. (a) Define returns to scale. Consider the 

following production function : 

Q AK Lα β=   

where Q is the output, K and L are capital 

and labour respectively. What restrictions 

do we need to impose on the values of α  

and β  to get various types of returns to 

scale ? Explain your answer. 6 

(b) Define elasticity of substitution. Find 

elasticity of substitution for the above 

production function. (Assuming 1β = − α .) 6 

8. With appropriate diagrams, analyze the three 

types of technological progress. Also bring out 
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the relationship between the three types of 

technological progress and marginal rate of 

technological substitution. 4+4+4 

9. Define the concepts of expected value and the 

expected utility. Explain their application in 

determining the attitude of an individual 

towards risk. 12 

10. (a) Determine the equation for the expansion 

path of a production function given by 

1 1
2 2Q L K= , where Q stands for the output 

produced using factors and K and L priced 

at ` 4 and ` 16 respectively. Assess the 

equation of expansion path of this 

production function. 6 
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(b) What will be the minimum cost of 

producing 500 units of Q, where 
1 1
2 2Q 5K L=  ? 

Assuming that the factor prices remain the 

same as in part (a). 6 

11. Find the optimal consumption bundle in case of 

quantity tax and an equivalent income tax. 

In which of the two tax regimes is the  

consumer better off ? Explain your answer with 

a diagram.  12 

Section—C 

Note :  Answer both the questions from this Section. 

Each question carries 6 marks. 2×6=12 

12. Explain any two of the following : 3+3 

(a) Shut down point 

(b) Homogeneous production function 

(c) Properties of profit function 

(d) Conditional input demand function 
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13. Distinguish between any two of the following :  

3+3 

(a) Weakly preferred and strongly preferred 
set 

(b) Implicit and explicit costs 

(c) Cardinal and ordinal preferences 

(d) Partial equilibrium and general 
equilibrium 
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ch- ,- (vkWulZ) vFkZ'kkL=k   

(ch-,-bZ-lh-,p-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-bZ-lh-lh--105 % eè;orhZ O;f"V vFkZ'kkL=k–I 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % izR;sd Hkkx ls funsZ'kkuqlkj iz'uksa ds mÙkj fyf[k,A  

Hkkx&d 

uk sV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj nhft,A 

izR;sd iz'u 20 vad dk gSA 2 × 20 = 40 

1- (d)  vkuan nks vof/;ksa 1 ,oa 2 esa thfor jgsxkA 

izFke vof/ esa mlds miHkksx ,oa vk; 1C  ,oa 
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1Y  rFkk nwljh vof/ esa 2C  ,oa 2Y  gSaA 

cktkj esa py jgh C;kt dh nj r  gSA mldh 

vUr%dkfyd ctV js[kk dk lehdj.k Kkr 

dhft,A ,d js[kkfp=k esa Li"V :i ls mlds 

laink leqPp;] vUr%[k.M vkSj ctV js[kk dk 

<ky n'kkZb,A mlh js[kkfp=k esa C;kt dh nj esa 

cnyko vkus ij ctV js[kk dk foLFkkiu Hkh 

fn[kkb,A 10 

([k)  eku yhft, fd vkuan dh ojh;rk,¡ laxfriw.kZ 

O;ogkj djrh gSa vkSj C;kt nj esa o`f¼ ls iwoZ 

og ,d m/kjdrkZ Fkk] fdUrq mDr nj o`f¼ ds 

ckn og ½.knkrk cu x;k gSA bl C;kt nj esa 

o`f¼ ds i'pkr~ mldh vkfFkZd n'kk igys ls 

csgrj gksxh ;k fud`"V \ ,d js[kkfp=k dh 

lgk;rk ls ppkZ dhft,A 10 
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2- ifjorhZ vuqikrksa ds fu;e vkSj ifjorhZ lalk/u (Je) 

ds lhekar rFkk vkSlr mRikn esa lEcU/ dh O;k[;k 

dhft,A ,d iQeZ dk ldy mRikn iQyu bl izdkj 

gS % 

2X 30L L 25= − −  

tgk¡ X  mRiknu rFkk L  Je dh bdkb;k¡ n'kkZ jgs gaSA 

mRiknu ds izFke ,oa f}rh; lksiku esa fu;ksftr Je 

dh vf/dre bdkb;ksa dk vkdyu dhft,A ,d 

js[kkfp=k esa ;s lc ckrsa n'kkZb,A 10$5$5 

3- nks oLrqvksa] X,Y  ds fy, vgen dk mi;ksfxrk iQyu 

bl izdkj gS % 

1 1
2 2U(X,Y) X Y=  

eku yhft, fd vgen dh vk; ` 300 izfrekg rFkk 

mu oLrqvksa dh dhersa Øe'k% PX = ` 3 rFkk PY = ` 5 
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gaSA mldk lUrqyu dh n'kk esa miHkksx la;kstu Kkr 

dhft,A ;fn mldh vk; rFkk YP  fLFkj jgs fdUrq 

X  dh ?kVdj ` 2 gks tk,] rks u;k miHkksx la;kstu 

D;k gksxk \ dher izHkko dks vk; rFkk izfrLFkkiu 

izHkkoksa esa fo;ksftr djus dh LyV~Ldh dh fof/ ,d 

js[kkfp=k }kjk le>kb,A 5$5$10 

4- (d)  izFke ,oa f}rh; {kse izes;ksa ij ppkZ dhft,A 

D;k vki dg ldrs gSa fd ,d iSjsVks bZ"V 

lek/ku n{k ,oa lerk'khy gksxk \ vius mÙkj 

dks mfpr Bgjkus okys rdZ nhft,A 8 

([k)  ¶nks oLrq] nks miHkksDrk okys fo'kq¼ fofue; 

izfreku esa n'kkZb, fd ,d xSj&Li/hZ lUrqyu 

n{krkghu gksxkA¸ mi;qDr js[kkfp=k ds ekè;e ls 

bl dFku dk lfoLrkj fp=k.k dhft,A 12 
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Hkkx&[k 

uk sV % bl Hkkx ls fdUgha p kj iz'uksa ds mÙkj nhft,A 

izR;sd iz'u 12 vad dk gSA 4×12=48  

5- (d)  miHkksDrk ds vfrjsd dh O;k[;k dhft,A eku 

yhft, fd miHkksDrk dk ek¡x iQyu bl izdkj 

gS % 

Q 150 2P= −  

 tgk¡ Q  ek¡x ,oa P  dher dh bdkb;k¡ gSaA 

izkjafHkd dher ` 3 gS vkSj ;g ?kVdj ` 2 gks 

tkrh gSA izkjafHkd dher Lrj ij miHkksDrk dk 

vfrjsd fdruk Fkk \ dher fxjus ds ckn 

fdruk gks tk,xk \ 5 

([k)  miHkksDrk dk lekf/eku oØ mÙky gSA ;fn 

{kSfrt v{k ij n'kkZ;h oLrq dh dher esa o`f¼ 

gks tk, fdUrq mldh vk; rFkk Y  dh dher 

iwoZor~ jgs] rks lerqY; ifjorZu dh O;k[;k 

dhft,A 7 
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6- ,d Li/kZ'khy izfrfuf/ iQeZ ds vYidkfyd vkiwfrZ 

oØ dh O;qRifÙk n'kkZb,A ;fn m|ksx esa n la[;k esa 

le:i iQes± gksa] rks m|ksxO;kih vYidkfyd vkiwfrZ 

oØ D;k gksxk \ ,d iQeZ ds nh?kZdkfyd vkiwfrZ oØ 

dk fu/kZj.k dkSu&ls dkjdksa }kjk gksrk gS \ 4$2$6 

7- (d)  iSekus ds izfriQyksa dh O;k[;k dhft,A bl 

mRiknu iQyu ij fopkj dhft, % 

Q AK Lα β=  

 tgk¡ Q  mRiknu] K  ,oa L  Øe'k% iw¡th ,oa 

Je gSaA fofHkUu izdkj ds iSekus ds izfriQy ikus 

ds fy, α rFkk β  xq.kdksa ij D;k izfrca/ 

ykxw djus gksaxs \ vius mÙkj dks Bhd ls 

le>kb,A 6 

([k)  izfrLFkkiu dh yksp dks le>kb,A ;fn eku ysa 

fd 1β = − α  rks mi;qZDr ^d* ds mRikn iQyu 

esa izfrLFkkiu dh yksp dk vkdyu dhft,A 6 
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8- mi;qDr js[kkfp=kksa dk iz;ksx dj rhu izdkj dh 

izkS|ksfxdh; izxfr dk fo'ys"k.k dhft,A bu f=kfo/ 

izkS|ksfxdh; izxfr;ksa vkSj izkS|ksfxdh; izfrLFkkiu dh 

lhekar nj ds chp lEcU/ Hkh Li"V dhft,A 4$4$4 

9- izR;kf'kr ewY;eku rFkk izR;kf'kr mi;ksfxrk dh 

ladYiukvksa dh ifjHkk"kk nhft,A tksf[ke ds izfr ,d 

O;fDr dh vfHko`fÙk ds fu/kZj.k esa muds mi;ksx dh 

O;k[;k dhft,A 12 

10- (d)  ,d mRiknu iQyu 
1 1
2 2Q L Y=  gS] tgk¡ Q  

mRiknu Lrj vkSj L  rFkk K  mRiknd lk/u gSa 

ftudh dhersa Øe'k% ` 4 rFkk ` 16 gSaA bl 

mRiknu iQyu ds foLrkj iFk dk lehdj.k 

vkdfyr dhft,A 6 
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([k)  ;fn 
1 1
2 2Q 5K L=  gks] rks 500 bdkb;k¡ mRiknu 

dh U;wure ykxr fdruh gksxh] ;fn lk/u 

dhersa Hkkx (d) esa pfpZr gh jgsa \ 6 

11- oLrq dj rFkk lerqY; vk;dj dh n'kk esa ,d 

bZ"Vre mi;ksx la;kstu vkdfyr dhft,A bu nks dj 

iz.kkfy;ksa esa fdl n'kk esa miHkksDrk dh fLFkfr csgrj 

gksxh \ vius mÙkj dh ,d js[kkfp=k }kjk O;k[;k 

dhft,A   12 

Hkkx&x 

uk sV % bl Hkkx ls nksuksa iz'uksa ds mÙkj fyf[k,A izR;sd 

iz'u 6 vad dk gSA 2×6=12 

12- fuEufyf[kr esa ls fdUgha nks dh O;k[;k dhft, % 

3+3 

(d)  dke canh fcUnq 
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([k)  le?kkr mRiknu iQyu 

(x) ykHk iQyu dh fo'ks"krk,¡

(?k)  l'krZ vknku ek¡x iQyu 

13- fuEufyf[kr esa ls fdUgha nks ;qXeksa esa Hksn Li"V

dhft, %   3$3

(d) {kh.k ojh;rk izkIr rFkk izcy ojh;rk izkIr

leqPp;

([k)  fufgr ,oa Li"V ykxrsa 

(x) ifjek.kokph ,oa vuqØeokph ojh;rk,¡

(?k)  vkaf'kd larqyu ,oa O;kid lUrqyu 

× × × × × × × 
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